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Blood Relation Questions Quiz for SBI Clerk Pre, IBPS Clerk Pre, 
RRB Asst. Pre Exam. 

Blood Relation Quiz 19 

Directions : Read the following information carefully and answer the questions. 
 
J is father-in-law of Q who is mother of R. P is father-in-law of T. There are two married couples. Total five 
members are there in the family. [Set of 3 Questions] 

1.  If M is the mother-in-law of Q. V is either son or daughter of M and married to H. H is 
not Q’s sister in law’s husband. Then how is V related to R? 

A. Aunt  B. Father  C. Paternal Uncle D. Maternal Uncle     E. Can't be determined 
 

2.  How is R related to T? 

A. Wife   B. Husband  C. Sister  D. Brother          E. Either A or B 
 

3.   If U is the only daughter of the family then how is U related to R? 

A. Sister  B. Aunt   C. Daughter  D. Can’t be determined       E. None of these 
  
Directions : Study the following information carefully and answer the questions  

A@B means A is Father of B, A#B means A is Brother of B, A%B means A is Sister of B, A$B means A is Mother 
of B. [Set of 2 Questions] 

4.  Then which of the following expressions shows that A is Paternal Uncle of S? 

A. A$S#N@E%M B. E#M%N$A@S C. S%E#A$M@N D. N$A#M@E%S          E. None of these 
 

5.  How P’s only brother is related to Q, if Q is maternal Aunt of daughter of Father whose 
only sister is P? 

A. Brother-in-law B. Mother  C. Son-in-law  D. Brother            E. Can't be determined 
 
Directions : Study the following information carefully and answer the questions  

Aaru and Aash are sisters, Aaif and Aban are fathers. Aayu, who is only son in law of Aaru, is son of Aban and 
brother of Aans. Aali is daughter of Aaif and sister of Aarv, who is son of Aaru. There are three married 
couples. Marriage is allowed among close relatives in the family. [Set of 2 questions] 

6.  If Aasi is daughter of Aash. Then how is Aaif related to Aasi? 

A. Uncle  B. Brother  C. Father  D. Son            E. None of these 

 



 

 

7.  How is Aash related to Aarv and also Aaif related to Aayu respectively? 

A. Mother-in law, Father-in law  B. Paternal Aunt, Uncle          C. Maternal Aunt, Father-in-law 
D. Maternal Aunt, Son-in-law   E. None of these 
 
Directions : Study the following information carefully and answer the questions  

`X@Y’means ` X is the husband of Y’,  `X#Y’ means `X is the father of Y’,  `X$Y’ means `X is the mother of Y’,  
`X%Y’ means `X is the brother of Y’,  `X*Y’ means `X is the sister of Y’, `X! Y’means  `X is daughter of Y’,   `X&Y’ 
means `X is the son of Y’,  `X^Y’ means `X is the wife of Y’ [Set of 3 questions] 

8.  Which of the following states "C is paternal uncle of F" to be definitely true? 

A. C#X*Y%D@F$M  B. X&C@E*F#D*Y  C. X%Y^C%D@E$F  D. X#Y@C$D%F*E  
E. None of these 
 

9.  Which of the following combinations when used in place of hyphen will make `P is 
sister in law of U’s Grandfather’ definitely true? 

P_Q_R_S_T_U 

A. ^,%,%,#,!   B. ^,%,#,@,*   C. ^,%,#,@,$   D. *,@,!,$,%  
E. None of these 
 

10.  Which of the following makes `R is cousin of N’ definitely true? 

A. Q!N%O*R@M*P  B. R!M@Q*P@O$N  C. M*N%O@P!Q#R  D. M#N*P@R!O!Q  
E. None of these 
 
 
 
 
 
 
 
Correct Answers: 
 

1 2 3 4 5 6 7 8 9 10 

C E D D A A C C C B 

 
 
 
 
 
 
 
 



 

 

Common Explanations : (Q. 1 to 3) 
Reference:  
J is father-in-law of Q. Q is mother of R.  
P is father-in-law of T. 
There is no relation between 1 and 2. But given that, 2 married couples and total 5 members in the family. 
 
Inference: 
By using this condition, P (Male) must marry to Q in order to make the condition of "2 couple in the family" 
satisfy.  But here gender of R and T cannot be determined. 
  

 
 

Answers : 
 

1.  From the following common explanation, it is clear that V is related to R as his/her ”Paternal Uncle”. 
Hence, option C is correct. 

 
 

(Refer : Case :1) 

Case: 1 M is the 
 

grandmother of R. V is the son 
son of M. V is married to H. 

Then 
 
 

V is son of M. And R is son of V's brother P. 
 Thus V is Paternal Uncle of R. 

Case: 2 M is the 
 

grandmother of R. V is the 
daughter of M. V is married 

to H. Then 
 

Here: H  is  Q’s  sister in law’s 
(V) Husband. 

But  in  question  H  is not Q’s 
sister   in   law’s   husband   is 

given.  So V is not the daughter of M. 

  
 
 
 



 

 

2.   The following common explanation, we get "Either Wife or Husband”. 
Here, gender of R and T cannot be determined. But they are a couple. So R could be either Wife or 
Husband of T. 

 
Hence, option E is correct. 

  
 

3.  If U is the only daughter of the family then three possible scenarios are there. 
Scenario number 1, where U is the daughter of J and sister of P, in such case she would be Aunt of R. 
Scenario number 2, where U is the daughter of P, in such case she would be sister of R. 
Scenario number 3, where U is the daughter of R and T. 
Thus we can’t determine the exact relation of U and R. 
Hence option D is the correct answer. 

  

 
4.    

  
 Option: A 
  
 A is the mother of S. S is  
 brother   of   N.  N  is  the  
 father of E. E is the sister 
 of B. 
  

 Here A is mother of S. 

 
 Option: B 
 
 E is the Brother of M. M  
 is  the  sister  of N. N is 
 the  Mother  of   A. A  is 
 the Father of S. 

  
Here A is the father 

of S. 

Option: C  
  
 S  is  the sister of E. E is 
 the brother of A. A is the 
 mother  of  M.  M  is  the 
 father of N. 
   

Here A is sister of S. 

 Option: D 
 
 N is the  mother of A. A 
 is the brother of M. M is 
 the father  of E. E is the 
 sister of S. 
  

 Here A is Paternal 
 Uncle of S 

  
 

Hence, option D is correct. 
 
 



 

 

5.  P’s only brother is married to Q’s sister. Both P and Q are females. Married couple has one daughter. 
Thus P's brother is related to Q as her brother-in-law. 

Or   
P's only brother is married to sister-in-law of Q. Then also both P and Q are females. Married couple 
has one daughter. In such a case also P's brother will be related to Q as her brother-in-law.  

 
 

Hence, option A is correct. 
 
 

Common Explanation: (Q. 6 to 7) 

References: 
Aaru and Aash are sisters, Aaif and Aban are fathers. 
Aayu, who is only son in law of Aaru, is son of Aban and brother of Aans. 
 
Inference: 
Aayu, who is only son in law of Aaru, is son of Aban and brother of Aans. [It means, Aayu, who is only son-in- 
law of Aaru and Aayu is son of Aban and Aayu is brother of Aans. 

 
 

References: 
Aali is daughter of Aaif and sister of Aarv, who is son of Aaru. 
There are three married couples. 
Marriage is allowed among close relatives in the family. 
 
Inference: 
Given, Aali is daughter of Aaif. We know Aaif is one among the father, so he must married Aaru. Thus Aali is  
daughter of both Aaru & Aaif. 
 

Aali is sister of Aarv and Aarv is son of both Aaru & Aaif. 
 

From above information, we conclude Aali and Aayu are couples since Aayu, who is only son in law of Aaru. 
  

As there are three married couples and marriage aong cose relatives is allowed , which means that Aban is 
married with Aash that makes them the third married couple, thus Aayu and Aans are their children. 
 

 
Answers. 



 

 

 
6. Following the common explanation, we get "Uncle".  

Hence, option A is correct. 

 
 

 
7. Following the common explanation, we get Aash is related to Aarv as his “Maternal Aunt and Aaif is 

related to Aayu as his Father-in-law”.  
Hence, option C is correct. 

 
 
 

8.  

 
Option (A): C is Father-in-law of F as per this expression. 

 
  

Option (B): C is Brother in law of F as per this expression. 

  
Option (C): C is Paternal Uncle of F as per this expression. 

 
Option (D): C is Mother of F as per this expression. 
Hence, option C is correct. 

9.  



 

 

  
Option (a): P is sister in law of U’s Husband 

 
 

Option (b): P is sister in law of father in law of U’s sister 

  
Option (C) P is sister in law of U’s Grandfather 

 
Option (D) P is sister in law of U’s Sister 
 

Hence, option C is correct. 
 
 

10.  

 
Option (A) R is brother of N 

  
Option (B) R is cousin of N 

 
Option (C) R is sister in law of N 

 
Option (D) R is the sister in law of N. 
Hence, option B is correct. 
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